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Uifley o
Section - A
WaFdBlw slenaled allenLwefld@ alem eums)
(Very Short Answer Type)

&My
Note:

1. @61CuTHTEIBGD. 30" CFTBHEDHSHE LSBT alledL UleddHa|b
Answet not exceeding 30-words each

1.  geuGeum(m elemalB@D cweaiml W&HICLEHIHET
Each question carries three marks

1. OGarhédsiul(Beten (WULHmSHEH leambseied eTameuGuenid (UL
alleTehdHEhHHE WL B allenL welldsa|b
Answer any thirty questions only out of thirty five questions

UNIT I (MODERN HISTORY OF INDIA AND INDIAN CULTURE)

1. wmseT uUTewIGL  eTedTLIGUT WIMT?

Who is Mangal Pande?

2. @Ml Quisbsd UBY S(HESBLONS 6I(LPSHISH
Briefly write on the Home Rule Movement

3. Wenmdlll GuU(hdbHTel © L algdh SHTFeuID 6157
What was the immediate cause for the Battle Plassey?

4. ‘yyewr swymRsduib’ GBiSS @k FBIGUBIIY 6(DSHIS




Write a brief note on ‘Poorna Swaraj’

5. awgraws sl dullar Cprésmsamen GUBILILTIGS
Mention the objectives of Swaraj Party

6. BMHT SLF 6hd hewi(h UJDISHIULL FHI? DiHeT CHTHaEmBmen aleur
Which year was the Ghadar Party established? Explain its objectives

7. 1939-b oewi(h SHTHIBTEO DIEHIDFFTH6T 66T JTIGTON QFUISHTTH6NT?

Why did the Congress Ministries resigned in 1939?

8. ‘Capaliupba’ eaim wWiemy SmPSSCBTD? DIHBEG STTNID FnBId
Who iscalled as “‘Desh Bandhu’? Give reasons for it.

9. @bglwraler 198D BITBHBITE0TQ60 @pbHS (L30T Fepsd
FnHmHHaUTHdeMet OUWITHMeN GSMBILILTNHES

Mention the names of 19t Century Social Reformersin India

10.ousm1 QuisssHSleITed  gBLIL L aleneneysemer ileufl
What are the etfects of Wahabi Movement?

11.1916 841D ' &1e0ih 0HCIT @ULHSSHH T (PSS WSHHINSHMS GgTal
State the important of Lucknow Pact - 1916

12.56u60L. FLL S0 SHTEISITorO 6J6dT 61HTHHHI?
Why did the Congress oppose the Rowlatt Act?

UNIT II (GENERAL APTITUDE AND MENTAL ABILITY)

13.48, 60 wmmIb 64 SFUI elewidenmed W Fllwmd auGu®B, 10000-83 &l
GombhS LSLOLIMUL 6TemTeN6ITES  HIT6ITSH
Find the greatest number less than 10000 which is exactly divisible
by 48, 60 and 64

14.e(p eupLmBelled @p OCFTensd @Flilinsd CeuemiBoleisd LB ESG
SMIGHIL LG Hell aul’lp alFHD eleieviouTsd HbHd Geuawi(pld?
At what rate percent per annum at simple interest will a sum of
money double in 8 years?




15.9m sasdHar cpmevall LSFHar BFH @  Foudbs  (PpeHCsmenibd
UEDTWILILIL(HeTTeN&l. FHITHBIL 60T, (PHGHment LTIl alHHD wirg?
An equilateral triangle is described on the diagonal of a square. What
is the ratio of the area of the triangle to that of the square?

16.A, B @mweaumid GFibal @@ Gauemevenul 12 BT &Hefled (Wgdbdaimert. B
LB SeGaiemevenul 30 BT &6eMed  (pliumT  etedfled A oL (BID
9161GsUmEVENUI 6THHEMET BT 6160 (LPIQLILITT?

A and B working together can finish a piece of work in 12 days while
B alone can do it in 30 days. In how many days can A alone finish the
work?

17.(pgpeoplensy alleugmiseT GCFsMbslLBLD (HmBHMET Fnmih
Mention the methods of collecting Primary Data

18.eitenBowmeiBl allevd@GHh BHaFFlamwl 61bHoHHISHTLBL 6T | aleur
Define mutually exclusive events with example

19.2_(meu ellendsiiuL b wBBID LGsTen auemjLL LD - CaumiibsHHs
Distinguish between Pictogram and Cartogram

20.(m eouUwled | 6. Galeiienem MWD . 97 HHLL] UbHSHIH6T E(HEHSGIB6.
IR (HHBHI OTWIH Lb&IS6T 61BHBLILIBH B
w. @yewniBid GlalsiTeneT LbHHIS6NTES EYHLILSMBHTE HHLDHH6]
9. @@ GleuaTenemiLbg 1OBOBTEIM  SHLLY UbHSENTS  E(HLILISBSTET

HHDSHHE| WITSH?

A bag contains 6 which and 9 black balls. What is the probability of
drawing 2 balls?
a. all the two balls are white balls

b. one white and one black ball?

21.05wmema [HIewTenINeY 6T6IIBT60 6163160 ?
What is Artificial Intelligence (AI)?

22.sy61556nm Guwevrewieny Siemwlily (DBMS) eeipmed eresren?
What is Database Management System (DBMS)

UNIT III (ROLE AND IMPACT OF SCIENCE AND TECHNOLOGY IN
THE DEVELOPMENT OF INDIA AND TAMILNADU)

23.@eunidh ereilen Wmened? SiHet LevCauml HiH6THemen allendhdd gmBih
What are called Quarks? Explain the different varieties of particles.




24.SQUID erettugy) wngl? oisen LweUmThsamend GBILGa
What is SQUID? Mention the applications of SQUID.

25.8uIBens LIGVLIYSH6IT 6IeIBTeL 6laiienr? @Jewi(h 61(hHBHIHHTL (HH6T H(HH
What are natural polymers? Give any two examples.

26.wau Lifer ‘A’ o eiten @I cPSHIBI QUT(HL HemeTd  nml. M6l L L0l6oT
A @eopurliyemed gBuBd alwTdsemen 611D
Name three sources of vitamin ‘A’ and mention the diseases caused
by it’s deficiency.

27.ConGeum@Cenmenied  LEWTIQLITLY  616IIMBIT6L 616316017
What are monoclonal antibodies?

28. 5600l @Gl IOLI(HEBHID - euenFUIm?
Define Parthenogenesis

29.% ulflw oM LIMBBToHEHMmB’ 6T6IMTED 6T6IT60T 2
What is Biolegical Oxygen Demand?

30.sms SIflF) 616360 | 6T6T60 7
What is ‘Gelden Rice’?

31.‘BlFsFHrmiser’  uBps FBIHBIiL elenyH
Write a short note on ‘Stars’.

32.°0FTemev ©_6amITHe0 6IIMBT6D 6163160 ?
What is Remote Sensing?

33.Cuteng OuT(HeTEemen @eid euTfluwims eumSLILIBGSHSH6LD
Categorise the abusable drugs.

34.“Levplzed GFWeOTSHSHID” CTETLINS GUMTUIBI
Define the term ‘Multiprogramming’.

35.ulemL @MNWIGH0 LBl GBILY euemTH
Write a note on Bar Coding




Ufley — &

Section - B
(F(mBaOTE alenLwelsGD allenmeuend)
(Brief Answer Type)
SOILILY:
Note

i) @6l0uT(h alemalB@GHh 120 CFTBHEHGHE WHMoe0 allenL Wieldsa|b
Answer not exceeding 120 words

ii) @euQeurp elemeaiB@Ld 61 SIS
Each question carries eight marks

iii) CarhaHalul Beten UHOIL B alamobseied eTeneuBuisnIld Ligmenbhdl
AT BHEHDHG alenL el EHa LD
Answer any fifteen questions out of eighteen questions.

UNIT I

36.L5GHFHMTH6N . @hHHuImaled g6l  alellenl HSMTHNMTS  B(HBHD
(LPIQ U6 606m6V?
Why did the Dutch people never become a strong power in India?
37.8phaHw  CHHlW T sTRSFHe0  SHTHBEHHGWD, SHaNTEUTH & EHS G (P66
Goumium_ewL  LGUUTLIS
Analyse the differences between Moderates and Extremists of the
Indian National Congress.

38.53ImPUITEND QUISSD BHBISSLILLL S 6J6ir?
Why the Non-Cooperation Movement was suspended?

39.501b FWaHTWHIHMBG F.Calgm-alear LmSeMilemer WHIINBS
Assess the contribution of E.V.R. to the Tamil Society

40.Cxrglur yGeouller Lemisenet GBILLIGS
Mention the services of Jyotiba Phule

41.9bw s FULD  1935-60 o sifen  (PpHHW  eufdeT LB GBI
QI
Write the important provisions of the Government India Act of 1935




UNIT II

4235 cm &llL(pelTel @H 2 _(HedeT aUgal HewieniT BTl  (LPIPeUGID
& GO0T 60T T o 6iTeNgl. QBT 1pullel(HbHS 11 GO LT & GO0T 60T T
1(hdbaLILL (il L G 67601160, CHTL19uilgl6l BITOL LSS0 gMuBLD
allpFFlenuids HewmiBLIg
A cyclindrical tank of diameter 35 cm is full of water. If 11 litres of
water is drawn off, find the drop in the water-level in the tank.

43.meuT &M SHIdHmen  @eldeuTaienBuild  5.990 alB@GL  GuTpS
qamlar  alemeouied 10% evmuGHmPBWID, BOBTENeE  aleweoulsd 10%
HOZ_HmBHUD CUBIFBTT 6Tl SauT OUBID GeOTULD BIGV6VEH! HOGL LD
LBBID DUBBIET AlSHhIBHmeTd HT6wISH
A man sold two horses for Rs.990 each gaining 10% on the one and
losing 10% on the other. Find his total gain oxgloss and also its

percentage.

44.0urgl CrTéH@ Sl Lameanid@Gl B ChTéHG | DI LeumenisGlD 2 6o
Geoumiur®  wirg1?
Distinguish between General Purpose and Special Purpose table.

45.076em1(h UBSmL &6t 2 (UL LUBL Curg @imer GoGso o eiten LeiTerllger e
6T600T6001] 6D B
a. 8 Gued ABLILSBHTR HHDHH6]
b. 7 w@Bpid 11  &e0eUTied  SBLILSBEHTRT  HHIDHHe DS UIIBHBS
SHITET6 LD
Two dice are rolled, what is the probability that sum of the numbers
on the dice is
a. Greater than 8
b. Neither 7 nor 11?

46.penlleiuler LeLCamI Hemev(penmHenall UMM allend@Has
Explain the various generations of computers

UNIT III

47 Modem eraiug wimg? OIHeit LWGTLTL 0l Fnl
What is a Modem? Give its uses

48. £16r06ILILT6rD LoBMILD S1er0OILINBLTer6rd 61660 61601601 ?
SINOILIGVLTFeTTe0 FBBILLBSHHD gBUGBLD Wimeneu?
What do you mean by asbestos and asbestosis? Discuss the
environmental hazards from asbestos.




49.28e1 &Cenmadlml GFUIeUSH60 @ 6o aupl(pemmHeneT GMILLIBS
Outline the steps involved in gene cloning.

50.memm OCF60 UIsSHFHar FH3H WwHllmer aleurd)
Discuss the nutritional value of SCP (Single Cell Protein)

51.0gTemeuw|emlTHe0 LeiTerll alleu]miselen HaIeND SHeNLOHM6N alleNdEHs
Explain the advantages and disadvantages of the Remote sensing
data

52.@Qa&MyiTeemen 6umsLILI[HSHSHMLD
Explain the classification of drinkers

53.Bluetooth wommid Wifi umnl elfleurs eflend@as
Explain in detail the “Bluetooth” and Wifi”

difley - @
Section - C
(afiflours  alenLwela@GD allenm 6alens)
(Detailed Answer type)
Gmiiy
Note

i) @elQeun(m alemalB@d 250 QFTBaEndE ST allenl Wellldaanb
Answer not exceeding 250 words each

ii) @elQeunp elemalB@L LHMebH LS ICLIGTTHET
Each question carries 15 marks

iii) OaThsHELUL(BeTen @&IUg  alamdbseisy  aenalCueild  Suml
AAMTEHHEHHG GHMBHIULFID 6@H alemenel alleum( UGS WIe0([Hb
CxMbOHBHHH allenL WeilldEHa]Lb.

Answer any six questions out of nine questions attending atleast One
question from each Unit.

UNIT I

54.@bgw wrpHlev wpFFemwoi uBp alleur
Elucidate the reorganisation of Indian States




55.5 Liopitiy @uissid (1930-34) uBm @ &U.(Hhed] euenIH
Write an essay on Civil Disobedience Movement, 1930-34

56.9bFW Cxhdlul o _ewiTey 6eNTFS DIMLHHHBHTN SHTTenImIGHmeT alleul
Describe the factors favouring the growth of Indian Nationalism

UNIT II

57.2 oewidel LBBID 3 OuewiseT @b GCeousmevenwl (p9Hd  SHlepd 7
enlGHID aipd 5 BTl &6 Goueney OCFUISBITHT. 4 a6l LOBBID 4
QuenmiseT 9I8» Goumevenws OCFuwiw  Georwd 3  wWewlICHID  aigd 7
BT &6 Geuenev CeuiBprTeeT. 7 a6l Herwpd 4 wenlGHyD
LB  Geouemev OFUIHTEL HH Couemevedl (PIYRHD  6THHENET BTG
SLESLD?

2 men and 3 women working 7 hours a day finish a work in 5 days. 4
men and 4 women working 3 hours a day do thessame work in 7
days. Find the number of days in which the wotk is. done by 7 men

only working 4 hours a day.

58.(ippsdh Sl 19F SMmilonel auedIbhH DIHeN OlFUIGOUL 196M60T - GILDUILILIL 19U 16D
AL CINRIFETE -
Draw the circuit for full adder and explain the concept with truth
table.

UNIT III

59.0Falwemigm el Siemevseler LweLTh uBms @b SL(BHMT 61(HSHIS
Write an essay on the uses of ultrasonic waves.

60.4588506aTe06086T LWTLGSHSLILGLD LeOGamI (LpenmEmen aleur
Discuss the various methods of using pesticides

ol.uteum psefler  FBPIesHHe0d  HAppT UNSHsbLLSET 2 L BoFweuled
gmplenet alleuf]
Describe physiology of urine formation in the mammalian kidney

62. 91608 6TH61M60 HTIILGLD 2 L 6o el CoupumGosenet aieuf]
Describe the range of thallus structure in Algae
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